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1111:5 = -W{C, exp(- ikx) + C, exp(iko} exp(ivwt)
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mp/m=1/4

1 2 (19)
K =0.48 f1=19.1Hz
K =3.22 f,=128Hz
1

f(Hz) | A (m) | /A K P a B

5 600 002] 01257 1.9894] 04658 -1.1050

10 300 004 02513 09947 0.7880] -0.7828

15 200 006] 03770 06631 0.9852] -0.5856

20 150 008] 05027 04974 1.1093] -0.4615

25 120 01| 06283 03979 1.1921] -0.3787

30 100 012] 07540 03316 1.2506] -0.3202

40 75 0.16] 1.0053| 02487 1.3271] -0.2437

50 60 02| 12566 01989 1.3744] -0.1964

75 40 03| 18850 0.1326] 1.4389] -0.1319

100 30 04| 25133 00995 1.4717] -0.0991

130]  23.08 052] 3.2673] 00765 14944 -0.0764

)
& 0110203 |04 | 05|06 |07 | 08]09 1
0

f=5Hz [-0.672|-0.659| -0.646| -0.633| -0.621| -0.608] -0.594| -0.581| -0.568| -0.554| -0.541
10Hz [-1.701|-1.676| -1.649] -1.621| -1.502] -1.562 -1.532| -1.500| -1.467| -1.434] -1.399]
15Hz [-4.725|-4.684| -4.636] -4.582| -4.521] -4.454 -4.380| -4.300| -4.215| -4.123| -4.025
20Hz |24.304]24.324] 24.282| 24.178| 24.014] 23.789] 23.504| 23.160| 22.757| 22.296| 21.780]
25Hz | 3.922| 3.977] 4.017] 4.040] 4.048] 4.039 4.015 3.975| 3.919] 3.848] 3.761
30Hz | 2.159] 2.228] 2.284] 2.328] 2.358| 2.375] 2.379] 2.369| 2.345] 2.308] 2.258
AOHz | 1.049] 1.144] 1.227] 1.299] 1.357| 1.401] 1.431] 1.447] 1.448] 1.434| 1.406
50Hz | 0560 0.681] 0.791 0.889] 0.973] 1.041 1.003| 1.128] 1.144| 1.143] 1.124
75Hz |-0.184] 0.006] 0.197] 0.380] 0.550] 0.701] 0.826] 0.923| 0.986] 1.015] 1.008
100Hz |-1.123[-0839| -0.502] -0.134] 0.243| 0604 0928] 1193 1383 1486 1496
130Hz [20.269|19518| 16.701] 12.118| 6.252| -0.275] -6.773|-12.554]-17.007|-19.661|-20.235|

(18f)
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128Hz

75Hz o =1.015
p =y /g=2.5/9.8=0.255tfsecz/m4
€=3000m/sec
W=1200tf
Wp=300tf
0 0=(1200+300)/(2.8x 2.8)=191tf/m?=19.1kgf/cm2
0 cr=19.1+30=49.1kgf/cm2

ft=30kgf
Ucr=0 cr/(p co )=49.1/(0.255x 3000x 1.015)=0.0632m/sec
=63.2Kine
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x=h ; u =uz (33)

d2u /0 t2+a2 4u /0 x4= 0 34)

(a=V (Esle/(p sAB)))

u =(cscos(kex)+cssin(kex)+czcosh(kex)+cssinh(kex))ei®t (35)
(ke=V (w/a))

x=0;u =u (36)
0 2u /0 x2=0 (37)
Eglgd 3u /0 x3=-EA(@ U /0 X)x=h (38)
x=l;u =u; (39)
0 2u /0 x2=0 (40)
Eglgd 3u /0 x3=-EA(@ U /0 X)x=h (41)
C1, C2, C3, C4, Cs, Cs, C7, Cg, U1, U2 10
(28),(29) (32),(33) (36) (41)
10
3.3
(27) (28)
q=U, (4
(27) (29)
c, coskh+c,dnkh =U, (43
(31) (32)
G=U, (44
(31) (33)
c,coskh+c,sn kh=U, (45)
(35) (36)

G, +c,=U,  (46)
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Ju_ . Kg [ C; 9N K X + ¢, cosk,; x + ¢, 9nh kX + G, cosh ka]

X
Tu 2 . .
KA = kg [ C; Cosky X - ¢ 9n Ky X + ¢, cosh K x + ¢; 9nh ka]
Tu _ a5 . .
o0 Kg [c5 gn KX - ¢ cosk; X + ¢, 9nh KX + ¢, cosh ka]
(37)

- ¢ +c, =0 47)
(38)
E. 1.k, (- G, +G,) =- EAK(- ¢ an kh+c,coskh) (49
(39)

C; cosk;l +cs9nk,l + ¢, coshkgl + cganh k;l =U, (49)

(40)
- ¢ycoskyl - ¢, 9n kgl +c, coshkgl + g gnh k1 =0 (50)
(41)
E.l k. *(cosn kgl - ¢, coskgl + ¢, sinh kgl + ¢, coshkgl)
= EAK(- c;9n kh + ¢, coskh) (51)
(42) (51)
¢ =U, (52a)
¢, coskh+c,ankh=U, (52b)
c,=U, (52c)
c,coskh+c,sn kh=U, (52d)
c,+c, =U, (52¢)
-c+c =0 (52f)
E,lgks (- ¢, + ¢,) = - EAK(- ¢ Sn kh+c,coskh)  (529)
C; coskgl +c,9n kgl + ¢, coshkgl + c;anh k1 =U, (52h)
- ¢ coskyl - ¢,9n Kkl + ¢, cosnkgl + c,anh kgl =0 (52)
E,l .k, (c.snkl - ¢ cosk,l + ¢, snh kgl +c, cosh k)
= EAK(- ¢, Sn kh+ ¢, coskh) (52))

3.4
(52a) (52f)



Cs

U, =U,coskh+c,snkh (53)
U, =U, coskh+c,dn kh (54)
C, =¢ :U—leé(uo coskh+c, gn kh) (55)
(52a),(52c¢) (53) (55) €1,C3,C5,C7,Us U C2,C4,Cs

coskh c, - rcg +rc; =U,9nkh (564a)
(coskgl + coshkyl)dgn kh ¢, - 29nkh ¢, + 29nk,l ¢

+2snh k| ¢ =U,coskh{2- (coskyl + coshkgl)}  (56b)
(- coskyl + coshkgl)dn kh c, - 2dn k|l ¢ +29nh k;l ¢,

= (coskgl - coshk;l)U, coskh (56¢)
r(gn kyl + gnh k;l) snkh c, - 2coskh c, - 2r cosk;l c;

+2r coshkgl ¢, =-U{2snkh+r cosh(sin kgl +snh kI)}  (56d)

r = EBIBkB3
EAK

(56a) (56d) Ca Cs

- cz[rz(s'n kgl + sinh kgl)sin?kh - r(coskgl +3cosk,l) coskhsn kh+ 2snh kgl cos? kh]
+ ¢, 2r[r(coskgl - cosh kgl) snkh+ (sn kgl +sinh k) coskh]

é % (sin kgl + sinh kyl) coskhsin kh u
) u

=U,a + r{2- (coskgl + coshkgl) cos® kh+ 2coshk,l Sn* kt‘}g (57a)
€ - 2drh k,l coskhsin kh 8

cz[r(coskBI - coshkgl)dn kh+ 29nh kil coskh]
+ ¢, 2r[snk,l - snh kyl]=U, [ r(cosk,l - coshkyl)coskh+ 2srh k,lsnkh|  (57b)

(57) Ce C2
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C2 = Z UO (58)

A=r?(y/1+ tan’K,/1- tah2k, - Dtan?k + 2r(tanh k, - tank,)tank + 2tank, tanh K,
B =r?(y/1+ tan’k,+/1- tanh2Kk, - 1)tank

+r{(tank81/1- tanh?k, - tanh kg +/1+tan’k; )(1+ tan’k) + (tanh k, - tank)(1- tanzk)}

- 2tank; tanh k; tank
ky =kgl, k=kh

3.5

u = (c,coskx+ c, Sn kx)e™

S = ET"L = EK(- ¢, an kx+c, coskx)
X

= Ek(-U, 9n kx+%UO coskx)

A + B2

= - EKU, ———an(kx-
0 A an(kx- a)

B
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A
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C W
A A+ B?
S o sn(kx-a) (59
reu, A
(59) A (58)
(59) A=0

r?(y1- tanh kg /cosk, - )tan’k + 2r(tanh k, - tank ) tank
+2tank, taohk, =0 (60)
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K =kh=hw/c K s=ksl=V (w/a) I

r=Eslsks3/(EAK)

s

(61) r « K B
KB
(61) K
r= ka2, kg = K 6
q 4/ pq
3.6
-7 RC T I=13m
2.8x 2.8 h=12m
11m
2 |
1g=0.13m4x 4=0.52m# 1
|
NI
|
2.7m
0.2m L
) ]jl.zm
A4
0.46m
-7
E.l, 0.52
R
P=—Fa 328 28 62 10
h 12
q :ﬂ =0.25
mB
k, = K =Jk =10.250k
4/pq 4/362° 104" 0.25
r =~k ——J— 62 107 - 03000k
(60) k =0.0936
¢ _ ke _00936" 3000 ..,

2h 2p 12



(60)

3.7
3.5

r2(y/1+ tan*k, 4/1- tanh 2k, - I tank + 2r (tanh k, - tank,) tank
+ 2tank, tanh k; =0
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q
K, = Jk
Jpg
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P® ¥ K, @0

3

kB l<B3
tank, @K, + 3 tanh k, @K, - =

1
J1+tan?k,4/1- tanh2k, @1+ng“

2
tanh k, - tank, @ ngs

tank, tanh k, @K,

r’kg’ tan’k - 8rk, tank +12=0
(rkg tank - 2)(rk;tank - 6) =0
rkytank =2or 6
p 1 Kk
@ 4pqg 4
k tank =2gor ktank =6q

K tank =2m/ms

rk; =ks
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4.1
(25)
T°u, ., . T'u,
=0 63 2
e ©®3)] (25
u A
-8
ua=u-+Uo
@+a2ﬂ:-(j(t) (64)
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(64)

(64)
4.2
(64)
T°u Tu _
w +a2 o 0 (65
u=U(w )ei®t
i (‘%’)Zu +ﬂxlf -0 (66)
(66)

U =C, coskx+C, 9n kx+ C, coshkx+ C, 9nh kx

=2
a

(67)



U
x=0 ; U =0, =0 (68a)

12U
=0 (680)
ix?
U

— = Kk[- C, snkx+C, coskx+C, sinh kx+C, cosh k]
X
1°U
Tix?
(68a)
C,+C, =0 (6%)
_C,+C, =0 (69)
) C,=C, =0 (70
(680)
C, ankl+C, gnh kl =0 (71a)
-C,ankl+C, gnhkl =0 (71b)
(7 C, =0
snk.1=0 (72

x=1 ; U=0,

= k2[- C, coskx- C, sin kx+C, coshkx+C, snh k¥

ip
k, = I_ () =12, ) (73
k=V (w/a) Wj
w =Zak?’= ﬁg@gz (ji=12 ) (74)
J J rBAB & | a !
Uj C1=C3=C4s=0

U, =C,sn ij:czsjng‘e‘%gJ (75)

4.3
M [0) (22)
i
M=E.l .f +h— 76
sl it (76)
@ =0 2u/0 x2, n:
(76) 1 Eele (0]

2 n 0 @lot
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° ix BBﬂx3+ s (77
(20) u Ua
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1, Tu,
—=. 78
ﬂX BAB ﬂtz AB ﬂtz ( )
2 h 5 4
jITT? +TA‘|111‘HX va Exlj =-U@®  (79)
ga EBI B —=—
VoA BAa pr
(77 (78)
(79)
(79)
u(xt)=a Uty  (80)
J
Uj(t): (75) q;(t):
ﬂ2
—=aVu, 4@ (81a)
e
ﬂSU _ 9 ﬂAUj

2
o AV 0O
=9 —'qg@= U .G (t
P 6}ﬂX4 q; (t) ?g_a;, i4; (1)

ﬂ4U o) ﬂ4U i

2
0 BV O
= (t) = —JU.qg(t
ﬂx4 a]- ﬂXA qJ() ag - Jql()
I 02
66
& o 5
(81) (79)

o €
au, &)+
i B

(b (83

u(x,t)

(81b)

(81c)

h B8 o e 0= 40
reAgag o AT

ua=uU+Uo Uo

(82)

(64)



(82)
(85) Ui X 01

h awv g 2bEl, 1 L.

QUU;ax=0 )
¢ (t) + 2bwa; (t) +w'q (t) =- MU, (t)  (86a)
U, (x)d
m= Q 0% ( (86b)
QU (x)dx -
| 12(=135 )
dx=gn ——dx—_—l -D'y= ’
QU Q g 'p{ } 'TI'(F))(i:Z,4,6 )
Uy2ge - L8, |
QU. dx—an g I ;dx 5
14
m=1ip 7135 ) @)
§0(i=246 )
(86)
Max{q, (1)} = mS, (w.b)  (89)
S, (W, b): w, b
i
u(xt)=U;(x) g() (89
(77) i Qi
Q=g TUCD g TV g (g
X ix
TU(X) _ T 1 ol @G adpx o
% ‘ITX T Y,
(90) (91)
i Qi

Q =- Eslsacfﬂ" cos?ﬂ9 a) (92

MavN — A2 EBIB izr\r\o’impxoc Anr IR i —12ERK

8¢ %[ﬁw 2wy, (t) naw? q (t)ff -suo(t) )

G, (1)

\

(88)
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i (93)

4.4
=[MtaXQiL
(94)

P=p’—=mS,(w,b)  (95)

4pEB'B ’s,(,b) (=135 ) (94

(m :—)
IJ 1Sp(w 1, ) O max

P=p° %dm = 31.01% d. (%)

el N

A A
b 1So(@ B)

6 max

=97 Dse. a0 +16x7)

dmax
960E,| , q
__a”
= [12.5- 5+0.5]
960E, |,

$p=ql/4 $r=quia

_ q ©@7)
120E, 1,

P=ql/4 (97)

I3 ®

(98)

d, = 4
120E, 1, 30E, I,
=

P= 30% d. (99

(99) (96)
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(94)

E,l
P= IBsBTIZSA(T,b) (100a)

_[Edloaps _ [Eglyl _aps o _2p
= e @0 o |Fee g0 (g - P,
A&y | W &y

I, =0.52m"
| =13m
W, =W, " 4=28" 28" 12° 25~ 4=940.8tf
,.2

T, =2 \/ M08 @30 _ op7ee

23 10°° 052" 13° 9.8&p o

Es c=3000m/s
3.72Hz

Sp=(T/(211 ))2SA

(100b)

3.75Hz

JMA

Sa(T1,B )=Sa(0.267,0.05)=1200gal=12m/s

e 6 7
P= 23 10" 052, 0.267%" 12 = 465.7tf

13°
P 465.7
S —=———=50tf /m* =5.9kgf / cm’
A 28 28
11.8kgf/cmz2
19.1kgf/cmz2 6
5.
(1)RC
1
(2)1 o /(p cUo)
h/c) mp/m

K (=0



20 120Hz 50kine

(3) o /(p cUo)
p Ah/(p sAsl) (Esle/ B)/(EA/h)

Esls/B
6
[ UiUjdx=0(i# j)

U, —sng&ﬁg , U, EE”’XQ
| o el o

{ d aep<o X o
U, dx = gsn¢g—-=9n —dx
0" Q €1 5 gl 2




